/* dOPES IOV TTEPLEYOVY UAAES OOUES - VTTOAOYIOHOG ERfadov opBoymviov */
#include <stdio.h>

int length, width;

long area;

struct coord {
int X;
inty;
Y
struct rectangle{
struct coord topleft;
struct coord bottomrt;
}mybox;

void main()

{
printf ("\n enter the top left x );

scanf ("%d", &mybox.topleft.x);

printf ("\n enter the top lefty *);
scanf ("%d", &mybox.topleft.y);

printf ("\n enter the bottom right x ");
scanf ("%d", &mybox.bottomrt.x);

printf ("\n enter the bottom right y *);
scanf ("%d", &mybox.bottomrt.y);

/* VTOAOYIGHOG TOV UNKOVG KO TOV TAUTOVG */

width = mybox.bottomrt.x - mybox.topleft.x;
length = mybox.bottomrt.y - mybox.topleft.y;

/* vTOAOYIGHOC KoL TPOPOAN TOL gpfadov */

area = width * length;
printf(*\n the area is %ld \n", area);



/* ypnon TV 0 TaCE®V S0PV */
#include <stdio.h>

/*opiopog pag doung */

struct entry{
char fname[20];
char Iname[20];
char phone[10];
o

/* dnAwon pog dataéng sopwv */
struct entry list[4];

inti;
void main()
{
for (i=0; i<4; i++)
{
printf ("\n enter the first and last names and phone ");
scanf ("%s %s %s", list[i].fname, list[i].Iname, list[i].phone);
}
/* mpoPoin TV dedopevav oty ofovn */
for (i=0; i<4; i++)
{
printf ("\n name = %s %s \t\t phone =%s \n ",
list[i].fname, list[i].Iname, list[i].phone);
}
}

/* droyeTELON PIOG OOUNG GE PUIG. GLVAPTHON */
#include <stdio.h>

/*op1opog, onAmon pog doung */

struct data

{
float amount;
char fname[30];
char Iname[30];

}rec;

void print_rec(struct data x);

void main()

{
printf ("\n enter the amount, first and last names ");
scanf ("%f %s %s", &rec.amount, rec.fname, rec.Iname);
/*KAnon g cvvaptnong */
print_rec( rec);

}

void print_rec(struct data x)

{
printf ("\n amount = %f \n first name = %s \n last name = %s ",
x.amount, x.fname, x.Iname);

}



#include <stdio.h>

void main()

{
int i,bigs=0,sum=0;
float aver=0.0;

struct st{
char name[20];
int sal;
}clerk[5];

for (i=0;i<5;i++)
{
printf("%d eponymo kai misthos ", i+1);
scanf("%s %d", clerk[i].name, &clerk]i].sal);
}

bigs=clerk[0].sal;
for (i=0;i<5;i++)

{
if (clerk[i].sal > bigs)
bigs = clerk[i].sal;
sum += clerk[i].sal;
}

aver = (float)sum / 5;

printf("max: %d \n",bigs);
printf("average: %6.3f",aver);



